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B.A. 2nd Semester (Honours) Examination' 2018 (CBCS)

Subject: Sanskrit

Paper : CC-III

Time: 3 Hours FulI Marks: 60

The figttres itt tlte margin indicate lull marks'

Candidates areiequired to give tlxeir ansh)ers in their own words

as far as Practicable'

r.e+iftftegv*5ffrcqr:g{FmigrFrffiTdqqF}qr;lF&fiiaffir(an.'dqcri'iRtfiq<qeq]llREdi
{qei-q-dR I

finfiF]s asefr c"rF r,Eercr< Ew {qsv${ 6{$tia fiPllsGt'rc << r arq+Efrq{ cqire qsoffi +r<

acf{ vs< frcs{c< I 2xlo=20

'q-'frqrl:
h,fiel't

(a) 'ssrgfrEel{f,q'- Eft lq5rqs 6; fu;l
' q{rsqnsfrq'& ;ilnFTC6l< FT<{ a ?

(b) 'Zdr g 5ffi{f,r<R'- 5s-qar<q enrir 4:? a}-i e qr entr(?

I gq1qnr6' 7 3g'I (T 7 sqi G$a m r

(c) (qsg: i-t ga e ifto:?

qcFi€qsF E.KI cslafia caRs <<fr({q ?

(d) qosqrd: *-l i+rtft wd-o:?

ss('l]81$ m mFI E(6icB eriE(ffi I

(e) frcifqr: qTerqttei eer1 qTrrcqq?

- ?<a:r<rE-{<lcqJ mq egQfl{t
'e'frsrq:
'{'fu6t

(a) f:i **n6 qrd +rEEt gfiz ffi rriq-mr iwd d F:?
,qrqt'ft el+'K sl<i ? s< {H+ {tfr.ol r?

fUl ersE-trsrqs sqe; o: rr+ft?

+tq{ft slc<r< Bqc ft r

(c) {*-clq: orj qqrcl-q 3cf€sq?

rsdfl7l 6fl E$av[s $aEaa fi({Qcffi a
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(d) 'qffir' e1tr'q6-qq;'qft ffi dr?qa?

.q{1({ 'qr6q{:' TEF fi c{RIt{ ?

(e)- q6fiii E@{drtq{'- effim 'efidq{q{' 6r 'lqfr?
' qefrd eqtpJqtqo' -Bfrfis' ofidq{q{' fi t

'r'ftqn:
'ri'fiett

(a) sqsklsTnfid ts{
Sq+FroeH fiiftr

(b) TseTkqs :trr- qfd &- wqq: ek?
etEqtfuEj qft Tqro corq+frcq3 c<RlH r

(c) ssr$qlfsRils fuq6; fuqPn; qfur

r-lTTf<rfrN<$rFqriql(q?

(d) sisi qrqqi qaq*qr rft-+r2

fivmm'geq*vt <6o<rEqz

(e) "gtvrtw" Efi r-ers rqfom +: grqfr,

'gwrfret' eR elrq< <G-.rsl c$i

2. qq:fu{tg q{i5 qqeli E-gqi'rr-rTii fqt.i qqrqr+Tr tg q{ig qEfu--lr kdqa5{Fnr qcrfcdrqr

ilo< A*eji.< rc<l rmF araf< Es< fr=rc << I E.k !r<j kF A(rr{ Bs< {\ s vHl{ flc,I I 5x4=20

(a) qsrnq-cr erlen: f*wq r

<li4tvlrld w$1{ T1<I 3

1c+rrarrr+ft qftrerlTs rqqftQrii {eFlrrdr{q r {ir{€sT g qftq Eo
vgnwmmcqiwuTierf lr+-cqtrwvft t

37qSt,

{scairrq ilq StErurrqlq€rEr€rcmerc@ Eu-ewrifraiffiv
$qwlqg_qdis{fiqrjrEi qlrt {lr{ffifflreH i},rrE: qsr.R: t

(b) qsqrevt wSen: f:*laq r

<l(Ef vl:iE q{ilq FC<l :

gEA Erfu1€qqsFTqfud qfon: 'tii t*R' cfr E-6$cW fsfugc<dRr*geq: r (Eg{s as+*Pj rmtlrr{r
asg'{qfftgFt ierq sq qq i dqel qrsq+q filqqr*-q-ti: r

ewt[

f1$ q€1qEeqfg1fqqsffir {rq5'+ {-qrfi rlqTF{: tBl.re} q qrfudrrrsrqrsrild: r st e nfu15gn
rcfs.qg,rci {qirTEriqr I € +i q{t:ffi: qrF{qqstrcfinfr sIcT Tslq!ft-flq clqt€rdFqEc-(- ts,
d*flq5'r6d t{int



(3)

(c) ervg {Ier{iqdsilsqT qrqlqfla 
I

iA>Iq{<q{qs vl{]{ <ll!]]t c{cll 3

+fiRrr) q cr{r: {rssrrcmenfi+cnfi *tq,c€lrqft gk: I

3l2.ldl,

"t+qT tqi qqd @+ioi e+kqqrti lqTqqFlqnfsqT{itsrfldq: gfrffi gq;" 1

(d) olq<q {ifffir M fEqqr :

ilcx cq c+trat so&'iir.+^e tsrc1 flRfi g

Eqqftdn Eqg ffiRr+r
(e)' qiicftTT€f{@n Effi*,!-dqrffi< lrq6q1'-

{l.srs-qr 6r erut(z q?i qr enqfi<?

<lsr<r{iG r ? Fq ffi q.nq $(<Ecffi I

fO 'ecffiqrcurrqfrTq;'-
*r es.ts{ Estffi{
mfq a+m e1+ail {.il <me?

sl*ftfisag cyig sH' ee6'qftr€qdr1l

ffiRE {esrim {c<l czr c$t({I f73eftFEq<as:
(a) '{qsr6{r{ftq' Sfi eT@ii {lFrrfirFr qfti qu{q 

I

' {Eerciltdq' qe qSrlca <lq+cc{r ufrq <f{t TC-<-I I

G) qqqtsrq g+{rs€q 3q{qr1 Eldil11

E$fu-s< ffi rrqal-5as $46a <"rTt +r<l
(c) lepfrfulpi wr( q4q'-erqrqailr

'qlrirFas q-rq qdt' 
-{Jj"BI 

$(-3I I

(d) 'csd=i' 'i-arcrqgffir'--<dt; a*pil; fqqq ereietr( I

'qsa=i''iorcrqsffi:' arqEtr< fiTcl qkqlF{l $Grl I
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